% = 252 Jehf9l oef 27, o] AL gafn 9t}
@ 35,48 2 2)0.35, 34 4.
® 3.05,4H 92 @ 053, 94

® 0.035, 98 I

A4=2 YERYH 0.35 "2 A4

2 9 Aoretn A&y,




6.34=6+0.3+0.04

9.31 = |+ |+ |
@9,0.3,0.01 @ 9,3,1 ® 9,0.3,0.1
@ 0.9,0.3,0.1 ® 0.9,0.03,0.01

9.31=9+0.3+0.01




@ (1)4.4 (2)3.33 @ (1)4.40 (2)3.330
® (1)4.04 (2)3.33 @ (1)0.404 (2)0.333

@(1)0.044 (2)0.333

B




O 5 27171 22 718 AR o] 52 AL ol AU
@ (1.040 , 1.40) @ (0.004 , 0.04)
@(48.50 , 48.5) @ (0.101,0.110)

® (0.112,0.211)

Aol A gl 242 02 o] 7Hs gy,

wh2bA] 48.50 = 48.5 U T,




Hol Al 788 gob [ [ ¢to] 92 25 AR 2 AL
I2AQ.

[ ]-1553-1.653-] |

@® 1.55,1.75 @ 1.53,1.73 @1.453, 1.753
@ 1.453,1.853 ® 1.453,1.755

0.1 %014 A5k,
AR [ ]=1.553-0.1 =1.453
SHA [ ]=1.653+0.1=1753




6. Aol A St s, Q) Ae) £A7 5, a4 AA A £7471 2
ade B A2 $A7L 0, 2% AR Ae] 2475 A 2B 24,

Ch "
H =

[ 2
[> =l 35.295

30+ 5+ 0.2+ 0.09 + 0.005 = 35.295




7.

01 aeEA

rlo
2
in
Sl
o
i
N
)

® 10 9 % Ut @ 0.1 9 10 LT
(@)0,01 2] 1000 Bl J Yt @ 100 9 ﬁ Ayt

1
[©) o)}
® 1000 9] 1000 Ayt

B

1
@ 109 1—0—>10><0.1:1

©@0.19 108 - 0.1x10=1
3 0.012] 10008} — 0.01 x 1000 = 10

1
o —_— =
@ 100 2] T 100 x 0.01 = 1

1
10009 —— — 1 001 =1
® 1000 ] Toog ~ 1000 % 0.00




0.6

-

ul

0.9-03=0.6




i




(1) 5.98-3.79 (2) 4.71 - 2.69

D (1) 2.29 (2) 2.22 @ (1) 2.29 (2) 2.12
@ (1) 219 (2) 2.22 @ (1) 2.19 (2) 2.12
@) 219 (2) 202

(1) 5.98 - 3.79 = 2.19
(2) 4.71 - 2.69 = 2.02




< St 100m D74 S 15.73 %, YaHs 13.88
71595 Uh 7t dotrE o whEz] FshA

O $A, 1.75% @ vt 1.75% ® A, 1.85%

@Urﬂh 1.85% ® A, 1.95%

15.73 - 13.88 = 1.85 o] 2. &
Uepr} 1.85% o whac,




12.

JEAQ,

Hr= A A4t gk

filo

5o A

filo

(1) 2.683 +3.019 (2) 4.092 + 3.008

@ (1) 5.692 (2) 6.991 @ (1) 5.692 (2) 7.1
® (1) 5.702 (2) 6.991 @) 5702 (2) 71
® (1) 5.702 (2) 7.01

~&B

(1) 2.683 + 3.019 = 5.702

2.683
+ 3019
5.702

(2) 4.092 + 3.008 = 7.1

4.092
+ 3008
71




13.

16.78-8.093 - 278 = |-2.78 = |

@® 8.694, 5.917 @8.687, 5.907 ® 8.697, 5.927

@ 8.687, 5.909 ® 8.685, 5.917

16.78 — 8.093 — 2.78 = 8.687 — 2.78 = 5.907




14. &9 271E vsto] O ¢kl >, =, <& &%

0.49 4+ 0.85(00.3 +0.96

vV V¥
0
L
v

0.49 + 0.85 = 1.34, 0.3 + 0.96 = 1.26 °]|B.=
whehA] 0.49 + 0.85 > 0.3 + 0.96




O 413.72

@ 0.075

15. & T 277 o] Y=

@ 74.38

@35.167

27} 743 2 A

o

AL ot 219




16.

2 A FHEE JF A ARgSto] ThE 7P 2 A Al 2He] R
0.004 2 #2 FoHA 2.
> £

> &g 9m

~&B

3 ot W Exol=00] & 4 gloBR
7V & A Al A = 9.706 O]
wEhA] 9.706 HoF 0.004 & G5 &5 AR 2] 221714 2
Fo|B = 9.71 o] Hr}.




= 4=0] 32 5782 + 5.67 = 11.452 o|t},

o 52 452 134 5 7B & 59 7P 22 429] g2 Lo}
AlQ.
700 67
782, 5——, 5—. 5671
5782, biooss bigge 067
> =
> = 11452
700 67
57505 = 57 5799 = 267
wrebA 7P 2 #‘: 5.782 o] 1L
7H 22 = 5.67 o]t}




18. F 4 @409 AE T,

)+0.21

@ : (0.001°] 426 <]
7 )+0.247

© : (0.001°] 129

P 4

—
il

i

>
> =l 0.908

0.

B

@ : (0.001°] 426 ¢! 4%)+0.21
= 0.426 + 0.21 = 0.636

© : (0.001°] 1297 Q1 £%)+0.247
= 1.297 + 0.247 = 1.5440| 22
1.544 - 0.636 = 0.908 ©]t}.




19.

& 2PL WESE 25 A A 5 F VY 2 S AY AE 5

2 = F-okA £,

5719, 0.01 ©] 32 ¢l =Hc} =

P
2

7
46—— Hrt} 22 A4 A 28] 5
1000 = = Azl &

=
H =

iy

= . 46.006

v Vv v Y
0X
n

0
n

= . 45.321

45.320 <[] < 46.007& WEA7]E 7 & S 46.006 0] 2,
71 2o - 45.321 YUt




20. O, ©2F7FY Bl Ad5USY @3 /Mt © 4 79 FA L] 2
26.2kg 111, @ 1 /et © 1 7h9] FA ¢ 2 7.8kg YU O 1
7he] FA= 2 kg Q1A] HoFA] L.

(@1 78] AN+ (O 1 7§2] FA)= 7.8 kg)

- (@3 719 A+ (© 3 7] FA)

=78+ 78+ 78=234kg

(@ 3 hS] BAN+ (© 4 79 FA)=26.2kg

- (@ 3 2] AN+ (© 3 0] F+A)

+ (© 1 7h¢] FA)=234 +(© 1 7He] FA)= 26.2kg
- (©1 709] F7)=26.2 - 23.4 = 2.8kg

(@ 1712 #A)=78-28=5kg




